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I. Answer all the questions. , | 6 5= 6

1. Which of the following is linear equation.

a) x+%=2 b) x(x-1) =

A% . :
c) 3x+5= 3 d)x}-x=5

‘ (f (2 3) is a solution of linear equation of the equatlon 2%+ 2y = k, then find

the value of ‘K’

a) 12  b)6 )0 d)13
a b ’ '
If a_zig where a Xt b1y+ c;=0andax+by+c,= 0 then the given
pair of linear equa_t_ion NBS wiesunvonss -solution (s) -
a) no solution b) two solution c) unigue ¢) infinite

A chord is at a dlstance of 15 cm “from the centre of the circle of radius 25
cm. The length of the chord is

- a) 25 cm . b) 20 cm c) 40 cm d) 18 cm

The points (-5, 2) and (2 ~5) lie inthe ..ocvvereeeeeenn. .

a) same quadrant b) 11, III quadrant ’ |

c) II, IV quadrant d)IVandIl quadrant

The distance between the two points (2,3) and (1,4 ) is ............. .

a) 2 b) 36 ¢) JI0 - d) 2
PART - I1

Answer any 4 ‘questions. 12th question is compulsory. 4X£2=28

Solve by substitution method. % + 3y = 16, 2x -y =4

Solve : 2x -y =3,3x+y=7
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4, Theangles of 2 quadrilateral areinthe ratioc 2 : 4 1 5 : 7 Find ail the angles. ‘

10. Find the value of x° q
il. Find the distgnce between the points (-4, 3), (2 -
12. Find the mid point of the following points (8, -2) , (-8, 0)
PART - I1I
111 Answer any 4 questions. 18th question is compulsory, 4 X% = 2
13, C!\eék whether (5, =1) is a solution of the simullancous equations

X -2y® Jand 2x ¢ 3y = 7
14. Solve by elimination method: 4a = 3b = 65, a « 2b =35

15. The chord of length 30 cm is drawn at the distance Of. 8 cm from the cantre
of the tircle. Find the radius of the circle

16. Determine whether the given the (pointe are collinear or not
(7 1‘! \'}1 l‘: {u “

17. Find the points which divide the fine Sagrment joining A{-11, 4) and B(9, 8)
into four equal parts.

18. Solve by cross - multiplication : 8x - 3y = 12, Se = 2y « 7
PART - IV
IV Answaer all the question, 2X8 =16

-
19. Drawthegraphfory = @x ~ 1, (OR) " ~. ';}f‘*f

N

30. In the given figure, © is the centre of the circle,

If the measure of [OQR = 48

/ \
‘ o\
) \L/\\
What.is the measure of [P . (OR) Q \

Show that the point (11, 2) is the centre of the circle passing tr'ough the
oints (1, 2), (3, ~4) and (5, -6). 2 g«
points (1, 23, (3, ~4) { o - memlzb page - 2
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